Electron Configuartions
Models of the atom
An early model of the atom was the Bohr model (GCSE model) (2 electrons in first shell, 8 in second etc.) with

electrons in spherical orbits. Early models of atomic structure predicted that atoms and ions with noble gas
electron arrangements should be stable.
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An atom fills up the sub shells in order of increasing energy (note 3d is dimensional shape.
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Electronic structure for ions
When a positive ion is formed electrons are lost When a negative ion is formed electrons are gained
Mg is 152252 2p6 3s2 but Mg?* is 152252 2p® O is 1s22s% 2p* but 0% is 1s%2s? 2p°®



